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(ON) (SN)
1 - 3 pRA*™ : ¥10,000 ( 4 ticks) 2fRA : ¥5,000 2[R : ¥5,000
) 4 - 6 [RA . ¥15,000 ( 6 ticks)
S S A 7 - 12 BA : ¥16,250 ( 6.5 ticks ) (2 ticks) (2 ticks)
13 - 20 [RA © ¥17,500 ( 7 ticks)
RIFAYT 1 . B .
A¥ LY 0.03%
47 1 1 - 3 [BA FT47 1 : 2FRA F47 1 : 2[RA
R ok F4T 2 4 - 6 RA
glufl:?Wle//}‘ F47 3 7 - 12 [BA
FA4T 4 13 - 20 [BH
1 - 1 ¥5,000 ( 2 ticks) 1 - 1 : ¥2,500 1 - 1 : ¥2,500
2 - 2 ¥5,000 ( 2 ticks)
1 - 2 ¥5,000 ( 2 ticks) (1 ticks) (1 ticks)
1 - 3 ¥5,000 ( 2 ticks)
TAT 2 - 3 ¥6,250 (2.5 ticks )
BERNATL YR 1 - 4 ¥6,250 ( 2.5 ticks)
B 3 - 3 ¥7,500 (3 ticks)
2 - 4 ¥7,500 (3 ticks)
4 - 4 ¥8,750 ( 3.5 ticks )
3 - 4 ¥8,750 ( 3.5 ticks )
HERMAS LR ON - SN 60 % 1 1)
EEREES EY - SN 55 % 2 : 1)
(FNg /A ok EY - ON 50 % 2 1)
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EISIEe 2% ¥300
*1 1 2ODVUT VIR A ZETe,
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2. RBGLILE
1 - 3 [BRH a = 1.5 ticks
~ NN 4 - 6 [RA a = 2 ticks
PLBARF VY + o * 7 - 20 [BA : a = 2.5 ticks
MR 7 R 2 Eh * 50 ticks
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